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Решение задач с 

использованием 

 понятия  

«Молярный объем» 
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№ ВЕЩЕСТВО V n N m 

1 АЗОТ 224м3 10 

кмоль 

6*1027 

 

280 кг 

2 Углекислый 

газ 

44.8 м3 2 

кмоль 

 

12*1026 

 

88 кг 

3 КИСЛОРОД 11.2л 0,5 

моль 

3*1023 

 

16 г 

4 ОЗОН 67,2 м3 3 

кмоль 

18*1026 144кг 

5 ХЛОР 3,6 мл 1,5 

ммоль 

9*1020 

 

 

106,5 

мг 

? 

? 

? ? 

? 

? ? ? 

? ? ? 

? ? ? 

? 



Дано: 

N(N2) =6*1027 

 

Найти: 

n - ? 

m - ? 

V - ? 

 

 

Решение: 

 

 

 

 

M (N2)= 28кг/кмоль 

m (N2)=10 кмоль*28кг/кмоль = 

280 кг 

 

V(N2) = 10кмоль* 22.4м3/кмоль= 

224м3 

 Ответ: m (N2)= 280кг 

             М(N2) =224м3 

             n(N2) = 10 кмоль 
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Дано: 

n(O3) = 3 кмоль 

 

Найти: 

V - ? 

m - ? 

N - ? 

 

 

 

Решение: 

 

V(O3) = 3кмоль* 22.4м3/кмоль= 

67.2м3 
 

М(О3)=48 кг / кмоль 

 

 

 

Ответ: n(O3) = 3 кмоль 
                  m(O3) = 144 кг 

           V(O3) = 18*1026 
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Дано: 

V(CO2) = 44.8м3 

 

Найти: 

n(CO2) - ? 

m(CO2) - ? 

N(CO2) - ? 

 

Решение: 

 

 

 

 

 

 

M(CO2) = 44 кг/кмоль 

  

 

 

 

Ответ: n(CO2) = 2 кмоль 

             N(CO2) = 12*1026  

             m(CO2) = 88 кг 
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Дано: 

V(O2) = 11.2л 

 

Найти: 

n(O2) - ? 

m(O2) - ? 

N(O2) - ? 

 

Решение: 

 

 

 

 

 

 

M(O2) = 32г/моль 

  

 

 

 

Ответ: n(CO2) = 0,5 моль 

             N(CO2) = 3*1023  

             m(CO2) = 16 г 
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Дано: 

m(Cl2) = 106.5мг 

 

Найти: 

n(CO2) - ? 

N(CO2) - ? 

V(CO2) - ? 

 

 

Решение: 

 

 

 

M(Cl2) = 71г/моль 

  

 

 

 

 

 

Ответ: n(CO2) = 1.5 ммоль 

             N(CO2) = 9*1020  

             V(CO2) = 33.6 мл 
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ОЦЕНИТЕ СВОЮ  ДЕЯТЕЛЬНОСТЬ  

НА ЛЕСТНИЦЕ  ЗНАНИЙ               

Плохо понимаю  

новый материал 

Понимаю, но 

нужно  

ещѐ поработать 

Всѐ понимаю, 

всѐ получится 


